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10.

11.

Electrical Engineering — 11
The cyclo-converter frequency in the cyclo-converter speed control of induction motor will be
(a) Equal to supply frequency.
(b) Higher than supply frequency.
(c) Either higher or lower than 3 times supply frequency.
(d) Lower than supply frequency and about its 1/3 times.

A single phase half wave converter with free wheeling diode drives a separately excited DC
motor at 900 rpm, with firing angle of 60°. When this motor is fed from single phase semi-

converter with o = 60°, the motor speed will be
(a) 1800 rpm (b) 1500 rpm (c) 1200 rpm (d) 900 rpm

A 415V, 3 phase, 50 Hz, 2850 rpm induction motor is driven on an inverter with constant,
v/f control, at 40 Hz frequency and half the rated slip. The speed of the motor will be
(a) 2480 rpm (b) 2400 rpm (c) 2340 rpm (d) 2280 rpm

A separately excited DC motor armature is fed by a 3-phase semi-converter supplies non-
zero torque. Under steady state condition, what will be the value of voltage when the
armature current drops to zero at a certain instants ?

(a) Equal to instantaneous value of AC phase voltage.

(b) Equal to the instantaneous value of the motor back emf.

(c) Equal to the instantaneous value of field voltage of the motor.

(d) Zero

The ripple content of the load current in phase controlled converters feeding RL load is
decided by

(a) load resistance only

(b) load inductance only

(c) both load inductance and load resistance

(d) neither load inductance nor resistance

The six SCRs in a three phase full converter are fired at an interval of

(a) 30° (b) 60° (c) 90° (d) 120°
The role of a free wheeling diode at the output of a rectifier is to
(a) trigger SCR properly. (b) turn off SCR at the end of half cycle.

(c) protect SCR against over voltages. (d) protect SCR against high current.

The overlap in a phase controlled converter under continuous conduction does not depend
upon

(a) Frequency (b) Applied voltage (c) Load current (d) Load inductance
Turn On Time (TON) of an SCR in series with an RL circuit can be reduced by

(a) increasing resistance (R) (b) decreasing resistance (R)

(c) increasing inductance (L) (d) decreasing inductance (L)

The maximum conduction of each thyristor in a 3-phase controlled bridge rectifier is for
which of the following options :

(a) 60° (b) 90° (c) 120° (d) 150°

How many stable operating zones exist in the forward bias portion of a thyristor’s I-V

characteristics ?
(a) 1 (b) 2 (c) 3 (d) Zero
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What will be the displacement factor of a single phase fully controlled rectifier feeding
constant dc current into the load with a firing angle of 30° ?

3
@ 1 (b) 112 (©) 3 (d) 32£
An ideal voltage regulator will have a voltage regulation of
(a 0 (b) 1 (c) 50 (d) 100
The waveform of the current flowing through the diode in a buck boost converter is
(a) Square (b) Sinusoidal (¢c) Triangular (d) Trapezoidal
A semi-converter feeding on RLE load operates in which quadrant ?
(a) First quadrant only (b) First & second quadrant
(c) First & third quadrant (d) First and fourth quadrant
Schmitt Trigger can be used as which of the following ?
(a) Comparator (b) Square wave generator
(c) Flip Flop (d) All of these
The output of the circuit shown in the figure below will be
TN
s
>
C
(a) A+BC (b) A+BC (c) AB+AC (d) AC+BC
If negative logic is used, the circuit shown in figure below represents the
A .
0~0V
Be—>— s SV
P 5\-’
(a) AND Gate (b) OR Gate (c) NOR Gate (d) NAND Gate

A DAC has a ladder of +10 V full scale output. The number of bits required at its input for
the resolution of 5 mV will be
(a) 7 (b) 8 () 9 (d) 11

The output expression of the Karnaugh map shown in the figure below is
BC

i;\\\ 00 01 11 10
0 1 0 0 1
1 1 1 1 1

(a) A+B (b) A+C (c) A+C (d A+C

Totem pole output stage is used in standard TTL gates, primarily to
(a) increase the noise margin of gate.

(b) decrease the output switching delay.

(c) facilitate a wired OR logic connection.

(d) increase the output impedance of the circuit.

Series-A 4 EEN-02



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

30° BRIRET 1o W e H e fop am yanfea i aret tehel et Ui It fegenrt w1 faeemom
TOTTeh ST &I 2

() 1 (b) 112 ORE (d) 325
@mﬁ@awﬁwm
(a) 0 (¢) 50 (d) 100
—wm&%mﬁ@ﬁaﬁmm?ﬂwmw@m%
(a) TR (b) WSS (c) STRUH (d) geisitgeet
RLE &€ ! Tl aTelt defi-shadt for aqater § 1 shtar 8 2
(a) el SH =qUT (b) wu ug Tyt aquta
(c) ¥¥M TF g Fqte ' (d) wom wd 9gel wgete
fore (Schmitt) TR =1 =i fomm o @ foraes w9 o TP ST aehaT 2 2
(a) IR (b) WRATIRA  (¢) TFu-wam (d) =g Tt
fe@m Tu wfshe 1 3T=eye g
A ™
~
D—
C
(a) A+BC (b) A+BC (c) AB+AC (d) AC+BC
fe Sifea oAifsTeh (FoTeHe deh arfer) k1 ST feran ST, a < quiten o fomt ferarent wlafafére
HLATE ?
A—>F—
0~0V
Be—>}— [rsssBE
-5V
(a) ANDe (b) ORTR (¢c) NOR e (d) NAND T2

Th DAC ¥ +10 V 01 Thel 3TRCYE & | 5 mV 1 RIS I1d i b foIe straweres foreg &1
é@TgﬁTﬁ
(a) 7 ) 9 (d) 11
:ﬁ%ﬁaﬁaﬂhmmﬁqwmﬁmwéﬁmﬁwwm%:
BC
A 00 01 11 10
0 1 Jof[o]1
1 RN

(a) A+B (b) A+C (c) A+C (d A+C
S TTL T2 § T Uiet 313 WS o ITANT 61 THE SR 8

(a) T1C o ATgst (M) TS <l TG |

(b) 3T=eYe feafem foeta = g |

(c) aIE 33T, (OR) ISR hiaa <hl Flaem & |

(d) Hiche o 313y FHEH (T(ASTHT) i FGHI |

EEN-02 s v



22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

If the input voltage is higher than the reference voltage in a positive clipper then the output
will be equal to

(a) Input voltage (b) Reference voltage

(c) DC positive voltage (d) Zero

The expression for Absorption law is

(a) AB+AA=A (b) A+B=B+A (c) A+AB=B (d A+AB=A
Simplification of Y=(A +B) (A+C)is

(a) A-(B+0O) (b) A+B-C (c) B+A-C (d (A+B)-C

(A + B) - (A + B) is equal to which of the following when both input are A=B =1 7?
(a) AB (b) 1 () 0 (d) AB

Which among the following is the basic building block of the Arithmetic and logic unit of
Digital Computers ?

(a) Attenuator (b) Subtractor (c) Adder (d) Demultiplexor
In a positive clipper, the diode conducts when

(@ V., >V, (b) V., <V, () Vi, <V, (d) None of these
A Hexadecimal Odometer displays F52F. The next reading will be

(a) G52F (b) F530 (c) F52E (d) F53F

A Debouncing Circuit is equivalent to

(a) An Astable Multivibrator (b) A latch

(c) A Bistable Multivibrator (d) A Monostable Multivibrator
Excess-3 Code is also known as

(a) Cyclic Redundancy Code (b) Self Complementing Code

(c) Algebraic Code (d) Weighted Code

Which of the following three binary additions are correct ?
1. 1011+1010=10101
2. 1010+ 1101 =10111
3. 1011+1101=11111

(@) land3 (b) 1and2 (c) 2and3 (d) Only3
How many NOR gates will be required to realise AND logic function ?

(a) 3 (b) 4 (c) 5 (d) 6
Which of the following is used for producing delay in a circuit ?

(a) Astable Multivibrator (b) Bistable Multivibrator

(c) Monostable Multivibrator (d) Schmitt Trigger

The result of Binary Division (11000), + (100), will be equal to

(a) 110 (b) 1100 (c) 11 (d) 101
The minimum number of JK flip flops required to construct a BCD counter is
(a) 2 (b) 3 (c) 4 (d) 5
Which of the following flip flops can be used as a latch ?

(a) JK Flip Flop (b) RS Flip Flop (c) T Flip Flop (d) D Flip Flop

Series-A 6 EEN-02
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Which among the following is the decimal equivalent of the Hexadecimal Number 2AOF ?

(a) 17670 (b) 17607 (c) 17067 (d) 10767
Which among the following is not a sequential circuit ?
(a) Counter (b) Shift Register (c) Full Adder (d) JK Flip Flop
The circuit shown in the figure represents
A
R
— =
VI l/l —0
"

(a) Clamper (b) Clipper - (c) Log Amplifier (d) Anti log Amplifier

A logical expression in form of Sum Of Products (SOP) is suitable for implementation using
which of these logic gates ?
(a) AND Gates (b) NOR Gates (c) NAND Gates (d) EX-OR Gates

A 4-bit DAC gives an output voltage of 4.5 V for an input code of 1001. If the input code is
0110, what will be the output voltage ?
(a) 1.5V (b) 2.0V (c) 3.0V (d 45V

The minimum number of memory elements required for the design of a sequential circuit
with nine (9) states
(@ 9 (b) 5 (c) 4 (d) 3

The Boolean Function A + AC can be realised by using only this one gate
(a) NAND Gate (b) AND Gate (c) OR Gate (d) EX-OR Gate

How many (2 x 4) decoders are required to implement a (4 x 16) decoder circuit ?
(a) 4 (b) 5 (c) 6 (d) 3
Assuming ideal diode, and input of V| = 5 sin t, the circuit shown below will behave as and

deliver the following output
I

o T

(a) Clipper with sinewave clipped at —2V.

(b) Clamper with sinewave clamped at —2V.

(c) Clamper with sinewave clamped at zero volt.
(d) Clipper with sinewave clipped at 2V.

A circular loop has one turn and its radiation resistance is 0.01 Ohm. What will be the
radiation resistance of five such loops ?

(a) 0.002Q (b) 0.5Q (c) 0.05Q (d) 0.25Q
Above which frequency do radio waves fade away due to rainfall ?

(a) 100 MHz (b) 1 GHz (c) 10 GHz (d) 100 GHz
At what position is the input signal inserted into a travelling wave tube ?

(a) At the controller end of the helix. (b) At the control grid.

(c) At the collector. (d) At the cathode end of the helix.
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Which among the following is not true for modulation ?
(a) It allows use of practical antennas.

(b) It ensures transmission over long distances.

(c) It reduces bandwidth.

(d) It separates different transmissions.

In a super heterodyne receiver, the IF stage has better selectivity than HF stage because
(a) frequency has been increased. (b) frequency has been lowered.
(c) constant pass band is possible. (d) The circuit has high L/C ratio.

In FM wave, the modulating frequency is 2 kHz and maximum frequency deviation is
10 kHz. If the number of significant pairs of side band is 8, the theoretical bandwidth
required will be

(a) 8kHz (b) 16 kHz (¢) 32kHz (d) 64 kHz

The frequency for satellite communication should be
(a) less than the critical frequency of lonosphere.
(b) equal to the critical frequency of Ionosphere.

(c) more than the critical frequency of Ionosphere.
(d) None of these

The channel capacity of a communication system is given by the formula (commonly used
notation to be considered)
(a) Blog, (S/N) (b) log, (1+S/N) (c) Blog,(S/N-1) (d) Blog,(1+S/N)

A geostationary satellite is placed in equatorial orbit at a height of approximately
(a) 900 km (b) 16000 km (c) 2000 km (d) 36000 km

A communication channel has bandwidth of 5 kHz and signal to noise ratio is 7. The
corresponding channel capacity will be
(a) 1800 bits/sec  (b) 4000 bits/sec (c) 15000 bits/sec (d) 1000 bits/sec

A communication channel with a bandwidth of 75 kHz has been allocated for binary data of
100 kbps. What additional bandwidth will be required to transmit inter symbol interference
free data ?

(a) 18.65kHz (b) 18.75 kHz (c) 17.85kHz (d) 17.65 kHz

In order to suppress the ground reflected wave, the angle between the direct ray and reflected
wave should be
(a) small (b) large (c) moderate (d) zero

The cut off wavelength of the guided wave, when a =b and m = n will be (consider standard
notations)
a

2a __m __a_ _a
(@) A= (b) kc_2a N ORS e () Ae=5~

The cut off frequency of waveguide depends upon which of the following ?
(a) Dimensions of waveguide

(b) Dielectric property of the medium in waveguide

(c) Wave mode

(d) All of these

Which of the following is the basic principle of operation of Klystrons ?
(a) Resonance (b) Degenerative feedback
(c) Velocity modulation (d) Negative resistance
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(a) € SATTRTEh TEHT o STANT h1 STFAA el & |
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(c) Had UTESUE HWE R | (d) @fehe # =1 L/C RN (3rgum) B |

T FM T # Aigereh 3Tafd 2 kHz & 3R sifreran smafe feae™ 10 kHz B | 3fe @rsesve &
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(a) 8 kHz (b) 16 kHz (¢) 32 kHz (d) 64 kHz

IrE T < fore formrge smgf gt =fee

(a) STEAYEH i Fhfceha TP EHA  (b) THSA i Fhfesha g & TaH

(c) ITHvEH i fhfesa smgfa @ atfoss (d) 370 9 18 &

TR foey 1 D9t 9ar b1 Byl & (FH=IG: S TIH 1)

(a) Blog, (S/N) (b) log, (1 +S/N) (c) Blog,(SN—-1) (d) Blog, (1 +S/N)
- TR 3UE I HERET e § T fohat SaTs T W@ Arar g ?

(a) 900 km (b) 16000 km (¢) 2000 km (d) 36000 km

Tsh TR Aot 1 SUsfage 5 kHz B 3R fpet ¢ Aisst WM (37ATd) 72 | 30! deratad =e

& gt
(a) 1800 bits/sec  (b) 4000 bits/sec (c) 15000 bits/sec (d) 1000 bits/sec
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o= feraaT w11 g1 =fRu 2
(a) B (b) w1 (c) wem (d) S
Ife a =b 3 m = n B dq1 TESS o (ATT) I HEIHTH St BN (FTH TEIH TT)
2a m a a
@ ho="0 (b) 2 == N (©) A =5 " ) % =3
JIIES <hl e 3T hiaael (smafa) frferfaa & & form w fasft gt 2 2
(a) ATES hHI SHHIH T
(b) ATES & ATEA 6T Srggeifaess ITadl ([urerd) W

(c) AT T

(d) ITrRT |ft W

Freferfaa o @ o foereem o Herer %1 gorvd frga 2 2

(a) WG (b) SSRfea Hredsw
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The functioning of Gunn devices is based on which of the following ?

(a) Transfer electron effect (b) Avalanche transit effect
(c) Trapped plasma (d) Impact ionisation

The capacitance used in varactor diode is

(a) Diffusion capacitance (b) Transition capacitance
(c) Both (a) and (b) (d) None of these

The bandwidth of AM transmitter with carrier frequency 100 kHz and modulating frequency
5kHz is
(a) 5kHz (b) 10 kHz (¢) 20 kHz (d) 100 kHz

The amplitude of the modulating signal in FM transmission determines which of the
following ?

(a) Rate of frequency variation (b) Amount of frequency deviation

(c) Modulation Index (d) Distance of Broadcast

The bit rate of a 7 bit binary PCM system is 50 Mbps. What will be the maximum value of

bandwidth of the message signal ?
(a) 2.57 MHz (b) 3.20 MHz (¢) 3.50 MHz (d) 3.57 MHz

A modern FM receiver uses De-emphasis circuit for

(a) Reducing high frequency noise.

(b) Limited line of sight range.

(c¢) Reducing amplitude of high frequency audio signal.

(d) Increasing amplitude of higher modulating frequencies signal.

Which among the following is commercial FM Broadcasting range ?

(a) 635to 1065 kHz (b) 88to 108 kHz

(c) 88to 108 MHz (d) 635to 1065 MHz

Which among the following modulation technique is used for Television transmission ?
(a) AM (b) FM (c) DSB-SC (d) VSB

In an FM circuit, the modulation index is 10 and the highest modulating frequency is
20 kHz. The bandwidth of the FM signal will be
(a) 220 kHz (b) 220 MHz (c) 440 kHz (d) 440 MHz

What will be the percent modulation efficiency of an AM single tone modulation, when the
modulation index p=10.5?

(a) 11% (b) 12% (c) 11.11% (d) 12.12%

A DC shunt generator supplies a load of 7.5 kW at 200 V. If the armature resistance is
0.6 Q and field resistance is 80 €, what will be its induced emf ?

(a) 224V (b) 218V (c) 212V (d) 204V

The compensating winding in a DC generator is

(a) series connected for aiding armature reaction.

(b) shunt connected for cancelling armature reaction.
(c) series connected for cancelling armature reaction.
(d) shunt connected for aiding armature reaction.

A synchronous motor is operated from a bus voltage of 1.0 pu and draws 1.0 pu zero power
factor leading current. If the synchronous reactance is 0.5 pu, what will be its excitation e.m.f. ?
(a) 2.0 pu (b) 1.5pu (¢) 1.0pu (d) 0.5pu
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The number of poles in a Turbo Alternator are usually

(a) 2 (b) 10 (c) 6 (d) 8
Which of the following motors can be used for unity power factor operation ?
(a) Capacitor motor (b) Schrage motor

(c) Hysteresis motor (d) Split phase motor

Metadyne has feedback with respect to main .

(a) positive, current (b) negative, current

(c) positive, voltage (d) negative, voltage

What will be the resultant axis flux in Amplidyne ?
(a) Cross magnetising flux (b) Sum of field flux and main flux
(c) Difference of field flux and main flux (d) Field flux

An ordinary DC machine is not preferable for use as amplidyne due to which of the following ?

(a) Poor gain (b) Low stability

(c) Sluggish transient response (d) High steady state error

What will be the effect of wave excitation of a stepper motor ?

(a) Increased step angle (b) Reduced resolution

(c) Micro stepping (d) Half stepping

How does a servo motor differ from an ordinary standard two phase induction motor ?
(a) Higher rotor resistance (b) Greater inertia

(c) Higher power rating (d) Motor stator windings’ design

The torque speed characteristics of a repulsion motor resembles which of the following DC
motor characteristics ?

(a) Separately excited (b) Shunt

(c) Series (d) Compound

The ratio of gross power to air gap power in an Induction Motor at slip ‘s’ is equal to which
of the following ?

(&) (1-s) (b) (I-s) (© N -s) (d) 1-+/s
A 1.8° step, 4-phase stepper motor has 40 teeth in total on 8 poles of stator. What will be the

total number of rotor teeth for this motor ?
(a) 40 (b) 50 (c) 80 (d) 100

What will be the decrease in maximum torque, if the supply voltage to a 3-phase squirrel
cage induction motor is reduced by 20% ?
(a) 10% (b) 25% (c) 36% (d) 48%

A three phase induction motor drives a constant torque load at a slip of 4% at rated voltage.
If the voltage is reduced by 10%, the change in slip will be

(a) Increases by 25% (b) Increases by 33%

(c) Decreases by 25% (d) Decreases by 67%

At what load angle in electrical degree does the developed reluctance torque attain its
maximum value in a salient pole synchronous motor ?

(a) 90° (b) 60° (c) 45° (d) 0°

The purpose of having a high resistance rotor in a single phase fan induction motor is to achieve
(a) Reduced size (b) High efficiency

(¢) Quick acceleration (d) Low starting torque
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If a synchronous motor is running at leading power, its excitation induced voltage (E) is
(a) Equal to terminal voltage (V,) (b) Higher than terminal voltage (V)

(c) Less than terminal voltage (V) (d) Dependent upon supply voltage

While starting a three phase synchronous motor, its field winding should be kept

(a) open (b) short circuited

(c) connected to DC source (d) None of these

The stator of a 3-phase, 6-pole, slip ring induction motor is connected to 50 Hz supply and
its rotor to 20 Hz supply. It will run at what speed ?

1. 1600 rpm 2. 600 rpm 3. 1400 rpm 4. 400 rpm

(@ 1,3 (b) 1,4 (c) 2,3 (d) 2,4

The diameter of the circle diagram for a three phase induction motor is given by (consider
standard notations with 1 = Stator, 2 = Rotor)

(@) V/X, (b) V/(R;+R,) (c) V/(X,+X,) (d) V/X,

The approximate value of efficiency of a three phase induction motor running at slip ‘s’ is
given by

(a) 1/(1+s) (b) s/(1+5s) () (1—=s)/(1+5s) (d) s/(1-5)

The rotor of a stepper motor does not have

1. Windings 2.  Commutator 3. Brushes

(@) land2only (b) 2and 3 only (¢) 1and3 only (d) 1,2and 3

Which of the following motors is the most suitable for signalling devices and timers ?
(a) AC series motor (b) DC series motor
(c¢) Reluctance motor (d) Induction motor

If a DC series motor is operated on AC supply, it will have the following result :
(a) poor efficiency (b) poor power factor (c) excessive sparking(d) All of these

Universal Motors are used in which of the following ?
1. Mixers 2. Portable Drills 3. Sewing Machines
(@) land2 (b) 2and3 (c) land3 (d) 1,2and3

The damping bars of a synchronous machine under hunting conditions develop what, when
rotor speed is more than synchronous speed ?

(a) DC motor torque (b) Synchronous motor torque

(c) Induction generator torque (d) Induction motor torque

If a 3-phase squirrel cage induction motor operates at a slip of —0.05, then it will
1. Draw mechanical power from shaft.

2. Draw electrical power from mains.

3. Deliver electrical power to mains.

Which of these statements are correct ?

(a) land2 (b) 1and3 (c) 2and3 (d) 1,2and 3

A synchronous generator, connected to infinite bus, is supplying half of the maximum power
which is 1 pu. Its synchronizing power coefficient is

(a) 0.5pu (b) 1pu (¢) Opu (d) 0.866 pu
The purpose of compensating winding in an AC series motor is to
(a) improve commutation (b) provide starting torque

(c) reduce reactance of armature winding (d) increase speed
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If the centrifugal switch of a split phase motor fails to open, then
(a) the motor will stop. (b) main winding will get overheated.
(c) auxiliary winding will get overheated. (d) rotor will get overheated.

Which among these motors is relatively free from mechanical and magnetic vibrations ?
(a) Universal motor (b) Hysteresis motor
(c) Shaded pole motor (d) Reluctance motor

A three stack variable reluctance stepper motor has 20 poles on each rotor and stator stack.
Its step angle will be
(a) 6° (b) 18° (c) 30° (d) 36°

A single stack 8 phase (stator) multiple step motor has 6 rotor teeth. The poles are excited
one at a time at excitation frequency of 120 Hz. The speed of the motor will be

(a) 31ps (b) S1ps (c) 101ps (d) 151ps

A synchronous generator is feeding a zero power factor (lagging) load at rated current. The
nature of armature reaction is
(a) magnetising  (b) demagnetising (c) cross-magnetising (d) ineffective

The characteristics of an impedance relay in R-X plane is represented by

(a) aparabola (b) acircle (c) astraight line (d) ahyperbola
Time graded over-current relays facilitate

(a) Faster protection (b) Accurate protection

(c) Back up protection (d) Primary protection

Which of the following relays is inherently directional ?

(a) Impedance Relay (b) Reactance Relay

(c) Mho Relay (d) Differential Relay

Standard voltage ratings of an electromagnetic relay are

(a) 110V,63.5V(L-N) (b) 220V, 110 V(L —N)

(c) 230V, 154V (L-N) (d) 400 V,230V (L-N)

The problem of high transient over-voltages occurs while interrupting which of the following ?
(a) Inductive current (b) Capacitive current

(c) Heavy short circuit current (d) Resistive current

In a biased differential relay, the bias is defined as the ratio of
(a) No. of turns of restraining and operating coil.

(b) Current of operating and restraining coil.

(c) Fault current and operating coil current.

(d) Fault current and restraining coil current.

Resistance switching is normally employed in
(a) All breakers (b) Bulk oil breakers
(c) Minimum oil breakers (d) Air blast circuit breakers

A 100 : 5 current transformer has secondary winding and lead resistance of 0.2 Q and
secondary burden is 5 VA. The output VA is

(a) 2.5 VA (b) SVA (¢) 7.5VA (d) 10 VA

The current chopping phenomenon occurs in Air Blast Circuit Breakers when

(a) A transformer at no load is switched off.

(b) A capacitor bank is switched off.

(c) A long transmission line is switched off.

(d) A heavy load is switched off.
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frerfriaa § @ =i a1 et wmTfess w9 @ SrEEa @ 7

(a) Siaema (shET) fet (b) Tuads i

(c) T (d) Tewifsrre i
AR el o) Luee deds e 2

(@) 110V, 63.5V (L-N) (b) 220V, 110 V (L —N)
(c) 230V, 154 V (L-N) (d) 400V, 230 V (L —N)

3= 2IAUE 3 dlees 6! T feferfigd § & fopaeh Sotmm W 3Tt 8 7

(a) Ssfdcasic  (b) Hufbfea =wie (c) 3= WS Giche hie (d) isifeca i
T S fewiiirret it # s foheeh 31ard & &9 § uitriyd fhan St g 2

(a) TR Feeft 3R ATnfen Fueeft & ® ()

(b) 3R Heeht a Fiiee Heeft Hic (9mT) H1

(c) TIY G & TR Heeft &

(d) T 9T g FRIeeh Heefl g’ &1

gty feate aramroraan forem w=mm i ST 2 2

(a) aft s b (b) Tk ATTA SIHL T

(c) IIqH dA sieht H (d) TR AT fche St A

Teh 100 : 5 % HIC ZEHIET oh FehUS FTSST TR ofig Tfalier 0.2 Q B 3T Ahvsdl 5784 5 VA
2 | 3T 3T3TYE VA Tehaam g

(a) 2.5 VA (b) 5VA (c) 7.5 VA (d) 10 VA
Teh TI ST Hihe Sieht § ohig ST el BId1 2 7

(a) & I IS W IHGBR i §¢ o3 MW | (b) HUTHET e 1 &g a1 AT |
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116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

An over-current relay having a current setting of 125% is connected to a supply circuit
through CT ratio 400/5. The pick up value of current will be
(a) SA (b) 525A (c) 6.25A (d) 10A

The purpose of harmonic restraint in a protection transformer is to protect against
(a) Lightening (b) Unbalance operation
(c) Switching over voltages (d) Magnetising inrush current

Which of the following combination of statements are incorrect ?

1. Mho relays are affected by arcing resistance.

2. Mho relays are affected by power swings.

3. Reactance relays are affected by power swings.

4. Mho relays are not affected by power swings.

(a) 1,3and 4 (b) 1,2 and 3 (c) lTand3 (d) 1Tand 4

Carrier current protection is normally used to protect
(a) HV cables (b) LV distribution lines
(c) HV transmission lines (d) Transformers

In circuit breakers, the rate of rise of restriking voltage depends upon
(a) the type of circuit breaker.

(b) the resistance of the circuit only.

(c) the inductance of the circuit only.

(d) the inductance and capacitance of the circuit.

When a 3-phase alternator is suddenly short circuited at its terminals, the initial value of
short circuit current is limited by which of the following ?

(a) Sub-transient Reactance (b) Transient Reactance

(c) Synchronous Reactance (d) Summation of all above

Which of the following is used to obtain the desired output waveform in an Op-Amp ?

(a) Clamper (b) Clipper (¢) Peak Amplifier (d) Sample and Hold
The final corrector of the Fourth Order Runga Kutta method uses which of the following ?
(a) Backward Euler method (b) Simpson’s method

(c) Midpoint Rule (d) Trapezoidal Rule

Which of the following methods is used by Second Order Runga Kutta method as predictor ?
(a) Forward Euler method (b) Backward Euler method

(c) Multipoint Rule (d) Midpoint Rule

How many Op-Amp are needed to implement the equation ?

R R R
V0=—{—fvl+—fvz+—fv3}

R, R, R;
(@) 1 (b) 2 (c) 3 (d) 4
When a step signal is given to Op-Amp integrator, the output will be ?
(a) Rectangular (b) Ramp
(c) Sinusoidal (d) Triangular wave with dc bias
Which of the following Amplifiers is used in a Digital to Analog Converter ?
(a) Voltage Follower (b) Non-invertor
(c) Difference Amplifier (d) Summer
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115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

125% Torega g freior areft T 37ek st it i 400/5 3191 & foRa 9 R (CT) %
T B TCATS YT H SR ST 2 | 38 3eute! (fieh 319) shie &1 9 8

(a) 5A (b) 525A (c) 625A (d) 10 A

TR ST B g e fohaa gean & fore e S ® 2

(a) I faga  (b) IEfId TTREH  (c) Teafa Sfiet diees (d) Fohid ST i
frfaiaa 3 @ w1 & wuE! o1 ity T T R ?

1. v e st e g ywifad e 8 |

2. v et urer fen | g g € |

3. frosds fiet iR fegm @ wfea g1a 2 |

4. T et wier fedm @ g T B § |

(a) 1,334 (b) 1,233 (c) 133 (d) 134
T HTE TIeeeH 1 3T U Topereh e & fu grar @ 2

(a) T, hect (b) T . fefegepm o

(c) Ta.&f, TrafeH wga (d) TFEHH

Tfehe SRt T I 31T TSt 3T T3l dicest fohd W it shear @ 7

(a) Tfehe ST T TR (b) AT e shi Usidd |

(c) T Tfehe Fl 38T W (d) dfche T sgad 3T Hufedd

9 TRt 3-Thsl ATeetiel o T T A= T Hlehe Bl STAT 8, 1 e Hfehe hid o TR
o ! frfefad & @ ik g st 2

(a) @ gfe sl (b) e ey
(c) fa=ria freada (d) STerd Tt < AT

AT TAHRR (Op-Amp) H 3w 3TITYE AUTEY JTd i o fo1C (= feiRad | & &
T 39N H AT AT 8 ?

(a) FATR (b) faTm (c) = Yo (d) G Ug Bles
%@igﬁt(w) T~ qohr1ehl b1 A et (Fueh) | Frferliga ® & fehgent 3w
h{dlia ?

(a) SHaS (TTTHY) Yo qHh1h (b) Taruem qerish

(c) meafag Fem (d) st frem
Freaferfaa o @ forar et v (311ER) TT-pat aehitep Hifeset 1 dig ST a8 7
(a) BIEE (FATTHT) eI Aeheiteh (b) SIS (UTeTTHT) IR Aeheiieh

(c) gferg fram (d) wefg Frm

FrataRaa Tt @1 i< s & o fhaw 3TT-T (Op-Amp) 1 3TTe=hdr Bt ?

R R R
f f f
VO=—{—V1 +—V2+—V3}

R1 RZ R3
(a) 1 (b) 2 (c) 3 (d) 4
JTI-TH (Op-Amp) T I T oA ¢ W 3L BT
(a) IR (b) .
(c) TTEIHEEA (d) €. IRIE % Y IR o

. frafafaa ° 9 1 9 yads =1 fefea 8 wiam ufeds d sqam e smar e 2

(a) deds BIAIST (b) T eI (c) Tewig yats (d) T (TATh)
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130.

131.

132.

133.

134.

135.

136.

137.

The method of least squares finds the best fit line so that the error between the observed and
the estimated point on the line is

(a) maximised (b) minimized

(c) reduced to zero (d) approaches infinity

Interpolation provides a means for estimating functions at which of the following ?

(a) Initial point (b) End point (c) Intermediate point (d) Outside point

dx
The ordinary differential equation dai —3x + 2 with x(0) = 1 is to be solved by Forward Euler

method. The largest time step that can be used without making the solution unstable is
(a) 0.54 (b) 0.44 (c) 0.64 (d) 0.66

An Op-Amp has differential gain of 103 and CMRR of 100, what will be its output voltage
with inputs of 120 uV and 80 uVv ?
(a) 26 mV (b) 41 mV (c) 100 mV (d) 200 mV

An Op-Amp has Common Mode Gain of 0.01 and Differential Mode Gain of 10°. Its
common mode rejection ratio will be

(a) 107 (b) 1077 () 103 (d) 1073

The gain and distortion of an Amplifier are 150 and 5% respectively. What will be the %
distortion if it is used with 10% negative feedback ?

(a) 6 (b) 9/16 (c) 5/16 (d) 8

Find the value of I, in the following circuit :

Vo ¥

1 1
R A e A

A two stage amplifier with negative feedback

(a) can become unstable for large values of f3.

(b) will always be stable.

(c) will always be unstable.

(d) can become unstable when pole frequencies become complex.

ol §
Ry

The zero level detector is an application of which of the following ?
(a) Summing Amplifier (b) Differentiator
(c) Comparator (d) Integrator

What is the voltage gain of an ideal voltage follower ?

(@ 0 (b) 1 (c) <1 (d) oo
The purpose of phase lag compensation is to

(a) make Op-Amp stable at very low gain.

(b) make Op-Amp stable at very high gain.

(c) reduce unity gain frequency.

(d) increase bandwidth.
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

=y s ferfer grT s e @1Te T i o fore fdifera (arfsstels) qon SigaTha (Teaes)

fergatt & <fr 3fe 1

(a) JATrehay feram AT | (b) =" FRAT T2 |
(c) I o TN AR | (d) 3d s IR TSR |
FAAIH (LAY ) Bt T 1AM Fforfad o & forg watar g 2
(a) YRR . (b) 3ifem feig

(c) =T fog (d) srefeg

@WWW%=—3x+2W’%ﬁx(O)= 1 1 Bias (TamHY) o fafer @ gt forn

TR | ToT 31fRdn 51 shres s TRy fordaT 91 WU HISST <h1 ST {3l ST HehaT & 7

(a) 0.54 (b) 0.44 (c) 0.64 (d) 0.66

Tsh 3ATT-TH (Op-Amp) T TEHIRR 79 103 G2 in @rs fiese WR (CMRR) 100 % |
Ife 6 S92 120 pV 3T 80 pV F, Y 3MTSYE AT BN ?

(a) 26 mV (b) 41 mV (c) 100 mV (d) 200 mV

Teh 3AT-TH (Op-Amp) Tl HHA 118 11 0.01 & 9UT THA=MTet Ag 77 105 3 | S6eh HiFd 118
e e arm

(a) 107 (b) 1077 (c) 103 (d) 1073

Teh TRTHRI (Tatieh) o1 T 31 TSReTe shuer: 150 31 5% 2 | 9fe 38 10% =7ied hies®
o 1 39T feman STQ %, feweiat femen g 2

(a) 6 (b) 9/16 (c) 5/16 (d) 8

foret wftaer 1, <1 7 =T B 7

Vs n
-~ IOl ?RL
- Ry 1 1

(a) Vg/Rq (b) Vg/R, (c) Vg (—Rs(Rs +RL>] (d) Vg (R—S+R—J
fea Frgde aTet e (2 2 ) Jad®
(a) B o ek A o foTw TR B TAhaT 2 |
(b) weT fer @m
(c) Hel AR &M
(d) I STIRTAT b hIFTad B T TR 8l 9ehall 2 |
ﬁﬁ%%ﬁtﬁmﬁﬁmwmé? ’
(a) G TATBRR (b) fewifRme (c) HER (d) FR
Teh 3T dlces BIAIST &l dicest T FT AT 8 7
(a) O (b) 1 (c) <1 (d) o
sl AT HHHIE T 33T &

(a) IR HH T W 3ATT-TH (Op-Amp) ! FRR T |
(b) T I T W 3TI-TH (Op-Amp) ! TR HET |
(c) Wﬁa@%aﬁmm|

(d) Svefagy i s M |
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145.

146.

The Boolean expression for the output F in terms of A & B for the 2 to 1 multiplexer shown
in the figure is

0
F
1
A
B
(a) A®B (b) A+B (c) A+B (d A®B
What will be the Eigen values of the matrix shown below :
5 0 1
0 -2 0
1 0 5
(@) —1,5and 6 (b) —1,3 and 8 (c) —3,5and 8 (d) 2,4and 6

The output of an ideal differential amplifier is 300 mV for inputs of 5 mV and 3 mV. What
will be the output for the inputs of 153 mV and 155 mV ?
(a) 100 mV (b) 200 mV (c) 300 mV (d) 400 mV

A sinusoidal voltage of peak value 5 mV and frequency 1 kHz is applied to the differentiator
circuit in the figure shown below. What will be the output ?
]1

+ Y1000 ke
1 pF
C L
VO

(a) 2000 7 cos 2000 7t mV (b) —1000 7 cos 1000 7t mV
(c) —2000 1 cos 1000 nt mV (d) —1000 & cos 2000 mtt mV
The Op-Amp comparator circuit uses which of the following ?
(a) Positive Feedback (b) Negative Feedback
(c) Regenerative Feedback (d) No Feedback
What will be the overall modulus of a cascade of three identical Modulo-5 counters ?
(a) 5 (b) 15 (c) 125 (d) 625

A temperature in the range of — 40 °C to 55 °C is to be measured with a resolution of 0.1 °C.
The minimum number of ADC bits required to get a matching dynamic range of temperature

sensor will be
(a) 8 (b) 10 (c) 12 (d) 14

Determine y(x) using Lagrange’s interpolation formula from the table given below :
X 0 1 3 4
y —12 0 12 24

(@ (x—1)(x%—5x+12) (b) (x+1)(*-5x+12)
() (x—1)(x*+5x-12) (d) (x+1)(x*+5x—12)
A non-singular 2 x 2 square matrix A has trace (A) = 4 and trace (A2) = 5 respectively. The

approximate value of determinant of A will be
(a) 4.5 (b) 5.5 (c) 6.5 (d) 7.5
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o= o T 7T 2 ¥ 1 Hedweied &1 3713<YE F 1 A Td B 9ei H gt (Boolean) fieafad &

0
F

A
B

(a) A®B (b) A+B (c) A+B (d) A®B
fr=ferfea seg (Afeed) & S197H 9 =1 8 ?

5 0 1
0 2 0
I 0 5

(a) -1,53M6  (b) —1,3 38 (c) —3,53MW 8 (d) -2, 4 36
Teh 3Tey AUt yade (FEmfRrel weflerr) 5 mv 3R 3 mV &% 92 & ol 300 mv

FITIE AT R | 153 mV 3R 155 mV 379 o foT8 113eqe 1 & 2
(a) 100 mV (b) 200 mV (c) 300 mV (d) 400 mV

= o= # guie T sraehad aieY § 5 mV i (I=aH) AW TE 1 kHz 1 3T aret
TGRS e TS T8 & | FHehT STTITYS I &I 7

°  } A,
| uF 1000 kQ2
V; | > —°
VO
(a) —2000 1 cos 2000 nt mV (b) —1000 7 cos 1000 mtt mV
(c) —2000 1 cos 1000 nt mV (d) —1000 & cos 2000 it mV

FTI-TH (Op-Amp) TeIhRI THUY fe § | foreent T htar @ 7
(a) ©FTCH $ISsh (b) RUMCHS $lgsh  (c) TaRicd BIgdsh  (d) his higash Tl
T T HIGEAT -5 HISU I HEohs Hid W Hol Higard I &I ?
(a) 5 (b) 15 (c) 125 (d) 625
— 40 °C & 55 °C 1 Ia H Teh am9qH i 0.1 °C % RTegz o |12 7197 1 ] | AI9HH Hagsh
T Tt @™ arelt grgAfies I e s o fofe =Ean ADC fee fohaq g 2
(a) 8 (b) 10 (c) 12 (d) 14
T ST (ST §F 8 T Toft 31 39 b y(x) 1 HH 1 I |
X 0 1 3 4
y -12 0 12 24
(@) (x—1)(x%-5x+12) (b) (x+1)(x2—5x+12)
() (x—1)(x*+5x-12) (d) (x+1)(x*+5x—12)
Teh 2 x 2 A TR TSR A %1 ¢8 37K 58k o1 3l 8 A trace (A) = 4 3R trace (A2) =5
? | 3% fecfiite 1 am e B |
(a) 4.5 (b) 5.5 (c) 6.5 (d) 7.5




147. The set of values of P for which the roots of the equation
3x2 + 2x + P(P — 1) = 0 will have opposite signs is

(@) (=, 0) (b) (0, 1) (¢) (1, 0) (d) (0, )
148. What is the correct solution of the following equations ?

3x+y+2z=3

2x—-3y—-z=-3

x+2y+z=4

(@) x=2,y=1,z=1 b)) x=1,y=2,z=-1

(c) x=-1l,y=1,z=-1 (d x=-1,y=-2,z=1

b

149. Physically integrating J f(x) dx means finding the area

a

(a) under the curve from a to b (b) to the left of point a
(c) to the right of point b (d) above the curve fromatob
150. The technique of computing the value of a function inside the given argument is called
(a) Interpolation (b) Extrapolation
(c) Partial fraction (d) Inverse interpolation
151. What is stored in Microprocessor ROM chip ?
(a) Control function (b) Arithmetic functions
(c) Instructions to execute data (d) Memory functions design

152. CALL in microprocessor means
(a) to execute a part of the main program.
(b) to call a subprogram within main program.
(c) to transfer control to specified subroutine.
(d) to return to main program from subroutine.

153. What does programmable logic array (PLA) use ?
(a) ROM matrices (b) PROM matrices (c) RAM matrices (d) SILO memory

154. After the execution of the instruction XRA A in 8085 microprocessor
(a) the carry flag is set.
(b) the accumulator contains FF.
(c) the zero flag is set.
(d) the accumulator contents shift left by one bit.

155. Which of the following is not a vectored interrupt in 8085 microprocessor ?

(a) TRAP (b) INTR (c) RST7.5 (d) RSTS5.5

156. The number of control and status signals in microprocessor 8085 are respectively
(a) 2,4 (b) 3,3 (c) 3,4 (d) 4,5

157. The number of address and data lines required to address 8 kB of memory are respectively
(a) 13,8 (b) 8,13 (c) 4,13 (d) 13,4

158. A 8085 microprocessor uses 5 MHz crystal oscillator. The duration of its T-state will be
(a) 0.2 us (b) 0.8 us (c) 0.6 us (d) 0.4 us

159. A microprocessor can be brought out of the WAIT state by
(a) Pressing RESET key (b) Giving interrupt
(c) Both (a) and (b) (d) None of the above
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148.

149.

150.

151.

152.

153.

154.

158S.

156.

157.

P < TTHI b1 A= &1 BT ek foru wefienton

3x2 + 2x + P(P — 1) = 0 < Heli & @13 foolid g1 ?
(@) (-, 0) () (0, 1) (©) (1,) (d) (0, )
= gt FTEE gA R ?

3x+ty+2z=3

2x-3y—-z=-3

x+2y+tz=4

(@) x=2,y=1,z=1 b)) x=1,y=2,z=-1
(c) x=-1,y=1,z=-1 (d x=-1,y=-2,z=1

b
%ﬁﬁ%mﬁff(x) dx o TS T 31 B 98 & TTd LT

(a) T FAdaU bah S | (b) fgaFad a2 |

(c) FEbHTUTHZ | (d) TFHFSIRadbaHh g |

feu T m{HE % 37e B 1 A AT A I e &

(a) IF<AIA (b) SRR (c) AT fir= (d) SIchA JFTIIE
HIEhIIEER %1 ROM oo & s @R g g ?

(a) FRAT SR (b) SN HRE  (c) S fsaTed & fdw (d) T i i fesme
TTEEhIIEE § CALL 7 319 8

(a) &I JTUTH 1 Teh AT saTfed ST |

(b) & TIUTH o 37T T IUTH < hict T |

(c) Tfee geed= & femw (Seiet) Tmaia ST |

(d) S B T T | efte |

TIUTHSIA SiTo7eh W (PLA) feheht Suim st 8 7

(a) ROMAfgs® (b)) PROMAfgs®  (c) RAM Bfged (d) SILO #wit
8085 TTSSHITER § f1EIT XRA A o a1 & a1

(a) %ﬁqﬁnﬁz%ﬁm%% N

(b) TS (THHAR) § FF |

(c) Y T EEATR |

(d) HETIh T ST Ush fore T &T¢ MG BT 2 |

TTSShITIEET 8085 | 398 W whiH Aol 3L T & 7

(a) TRAP (b) INTR (c) RST 7.5 (d) RSTS5.5
TTSShITIEEE 8085 T shalel 3R TeeH firet <hl Tt shel: 8

(a) 2,4 (b) 3,3 () 3,4 d) 4,5

8 kB T o foru shuer: fera ugd 311 321 <A1e hl STawshal Bidl & 7

(a) 13,8 (b) 8,13 () 4,13 (d) 13,4

. Teh 8085 HTSShITIEEL 5 MHz 1 fshiget 3Tt o1 T3 hidl B | 3Teh! T-EE <hl 3rafyr gt

(a) 0.2 us (b) 0.8 us (c) 0.6 us (d) 0.4 us

. Teh HISShITIEET sl WAIT &2 H 918t A o feu

(a) RESET 1 (key) %! SR @ehal & | (b) 3L fe ST Heha1 2 |
() (a) 3R (b) A () SRR I RE T
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168.

169.

170.

What will be the contents of carry flag and AL after the execution of the following program
in 8086 microprocessor ?

MOV AL, 7E

MOV BL, 8C

ADD AL, BL
(a) OA, carry is reset (b) OA, carry is set
(c) FA, carry is reset (d) FA, carry is set

The number of memory chips of size 1 k x 4 bits required to build a memory bank of size
16 k x 8 bits is
(a) 8 (b) 16 (c) 32 (d) 64

A microprocessor uses 3 MHz clock and has 3 T-states in each machine cycle. What will be
the time required to complete the instruction that needs 4 machine cycles ?

(a) 2 s (b) 4 pus (c) 6pus (d) 8us
The flags of microprocessor 8085 are

(a) S,0V,Z,P, AC (b) S,Z,0V,P,AC

() S,Z,CY,P,0V (d) S,Z,AC,P,CY

Three devices A, B, C (in decreasing order of priority, A being the highest) are connected to
microprocessor 8085. The correct assignment of interrupts for them will be

(a) A>RST7.5,B—>RST6.5,C—>RSTS.S

(b) A—>RST9.5,B—>RST85, C—>RST7.5

(c) A—>RST6.5,B—>RST 7.5 C—>RSTS.S

(d) A—>RST6.5,B—>RSTS5.5,C—>RST4.5

The smallest valid signed integer that can be stored in a memory location of 4 k x 8 bit RAM
1s
(a) —128 (b) —256 (c) —2048 (d) —4096

The OPCODE for the instruction to add the data in the next byte to the Accumulator along
with carry in 8085 microprocessor is given by

(a) ADC (b) ADI (c) ACI (d) ADD
The DAA instruction in microprocessor 8085 is used for

(a) Decimal Adjust Accumulator (b) Direct Access Accumulator
(c) Direct Address Accumulator (d) Direct Add Accumulator
When microprocessor 8086 executes an INT type instruction, it

(a) Resets both IF and TF (b) Sets both IF and TF

(c) Sets all flags (d) Resets all flags

In which T-state does a CPU send the address to memory or I/O and the ALE signal for
demultiplexing ?

(a) T, (b) T, (©) T, (d) T,
How does the data get transferred in a DMA Write operation ?
(a) From memory to I/O (b) From I/O to memory

(¢) From I/O to CPU (d) From CPU to I/O
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169.

8086 HATSsHITIEE 8 freferiigd Tiumg =eT o 3utd il Tl 3R AL H &1 81T 2

MOV AL, 7E
MOV BL, 8C
ADD AL, BL

(a) OA, TR (b) OA, U TR (c) FA, FTTc?  (d) FA, F1 T ?
16 k x 8 bits o HHR] b b1 S o fTT 1 k x 4 bits & fohas AHH) Foemr i srmarearenan gnft 2
(a) 8 (b) 16 (c) 32 (d) 64

Teh ATSShITEET 3 MHz shl dctich T s oL (&l & 3 3Gk Ycdeh 39 HTgehct H 3 T-RL 2 |
I 4 T T AT T T (SRR Tl 01 Bt | ToheT S @RI 2

(a) 2 s (b) 4 pus (c) 6pus (d) 8us
TSI 8085 % FATT &

(a) S,0V,Z,P,AC (b) S,Z,0V, P, AC

(¢) S,Z,CY,P,0V (d) S,Z,AC,P,CY

HTSSHITAER 8085 | 3 IUHUT A, B, C (STTHhAT o HH BId ohH H, A HaT=d TTUfHehdT o H1Y)
T2 7 | 37! s o gl e s a vl 7

(a) A—RST7.5,B—RST6.5,C—RSTS5.5
(b) A—>RST9.5,B—>RST8.5C—RST7.5
() A—>RST6.5,B—>RST7.5C—RSTS5.5
(d) A—>RST6.5,B—RSTS5.5,C — RST 4.5

4k x 8 foe RAM o R 3T ST a7e! Teidl B¢ 3¢ U158 qUTTeh (<IST) <hT Tl T T 8T 2
(a) —128 (b) —256 (c) —2048 (d) —4096

8085 ATSShITIEER H ST <hi 3TTef] aTge | e T 327 31 ohillt <h |19 ToRIHeiet | SigH o fofg
OPCODE 2

(a) ADC (b) ADI (c) ACI (d) ADD
HIESHITTEER 8085 H DAA Tiée w1 waim fepafere gran 2 2

(a) SRmel TEshe THRpgeret (b) ST THE TR

(c) ST UgH TRHA (d) SR T8 TR

76 HTSSRITTEER 8085 INT YehR o ST b1 shrIif=rd =hid B, a&

(a) IF 3T TF S ol {82 a2 | (b) IF 3 TF i hl TS HLATR |

(c) Tfl FAT HI T HLATR | (d) Teft vl Bl BT HLAT R |

Teh CPU for® TR T AHI0 I1 /O 1 UgH T e AT o fou ALE et S 2 7
(a) T, (b) T, () T, (d) T,

. DMA Write 31w # 21 fore TehR SAMIai@ giar 8 ?
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

The power output for DC component of a full wave rectifier with maximum value of 10A
AC current and load resistance of 10 Q is approximately
(a) 225W (b) 405W (c) 150 W (d) 320w

The main reason for connecting a pulse transformer at the output stage of a thyristor
triggering circuit is to

(a) Amplify the power of the triggering pulse.

(b) Provide electrical isolation.

(c) Reduce the turn on time of thyristor.

(d) Avoid spurious triggering of the thyristor due to noise.

A single phase full bridge converter supplies a load drawing constant and ripple free load
current. If the triggering angle is 45°, the input power factor will be
(a) 0.866 (b) 0.707 (c) 0.636 (d) 0.368

Which among the following is the most suitable power device for high frequency switching
applications above 100 kHz ?
(a) SCR (b) Power MOSFET (c) GTO (d) BIT

The snubber circuit is used in thyristor circuits for the following action :
dv di
(a) Triggering (b) at protection only (¢) Ei protection only (d) None of the above

In comparison with a single phase half bridge inverter, the power output of a single phase
full bridge inverter is higher by a factor of

(a) 2 (b) 4 (c) 6 (d) 8

A thyristor controlled reactor is used to obtain which of the following ?

(a) Variable resistance (b) Variable capacitance

(c) Variable inductance (d) Improved reactor power factor

A step down chopper shown in the figure is switched at 2 kHz with a duty ratio of 0.75. The
peak to peak ripple in load current will be

By & T,

100 mH
élo Q

(a) 0.125 A (b) 025 A (c) 0.5A d 1A

A 6 pulse, 415 V, 3 phase semi-converter controls a 440 V DC motor. If the total drop in the
circuit is limited to 10%, then the converter must be locked at an angle of

(a) 30° (b) 45° (c) 60° (d) 90°

The chopper shown in figure operates with a duty ratio of 0.8. The load is sufficiently
inductive to keep the load current ripple free. The average current through the diode under
steady state condition is

'l
N
A

+
200V 7

D —
L

|
N
A

+
100 V 7 10Q

(a) 1.6 A (b) 6.4 A (c) 8.0A (d) 10.0 A
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171. A 10A AC 2 3R 10 Q T8 e arel $o 99 HaehR (flggshit) % DC o2 &1

TR 3TITYE TN BT
(a) 225 W (b) 405 W (c) 150 W (d) 320 W

172. wrfveet fonfin afdhe & 3113eqe WS W Ueq I T 1 T&3 SR 8
(a) fomfan uew =t wifed =1 QT |
(b) fergga 3fe & yorep e |
(c) UG o 2o 3T T ol HH HET |
(d) Taamy (ATesT) o HROT ARt & JrageR fiaT i T |
173. T et %t qut foret sheardt wsh ffvara fooet gem amn i 9t ol &1 awrs < @1 R | Af

femfn et 450 B, Y $ge UTeR St BT
(a) 0.866 (b) 0.707 (c) 0.636 (d) 0.368
174. 100 kHz & 371k 3= 3T fefem ufectensH o fordl i Ter feamss & § o 9ad 39gad & 2
(a) SCR (b) IR MOSFET  (c) GTO (d) BIT
175. urafeet afdhe # wex wfdhe =1 3w frfofea wrf & fo frn sman 2
(a) fomfim (b) nﬁ%’ﬁxm (c) m%a’t&m (d) T HTE TE
176. T et B &1 foit 3a10t o gehteret H Ush RiTet Wt Bt foret Sa1dx feha Tumieh @ 31freh Brar 2 2
(a) 2 (b) 4 (c) 6 (d) 8
177. urafeet R froder 1 3w freforfea | @ ferees fog frm s 2 2
(a) UREdHE Tfate (fae) (b) UiEd-T Hufied
(c) UNEd- 3eed (d) 3~Ta et ufat et

178. To= H fem@me 7T Ru g If b1 2 kHz W 0.75 S IR (31991d) W fea= fhen Sirar @ 139
feufa o e wie # dis @ die (e @ fireR) foaet <1 9 B

hy A1,
100 mH
200 V%-_ VAN §IOQ
(a) 0.125 A (b) 025 A () 0.5A d 1A

179. Th 6 TcH, 415 V, 3 %t THft Teaet 440 V it 4. HI ol Shelal R @1 2 | afe afw § o
B 10% doh HITHd B TT hracl bl e i T I BT
(a) 30° (b) 45° (c) 60° (d) 90°

180. o & femm o = 0.8 o gt R o A1 S @I R | &A1 H T Iehed b HRUT AS
e fuet g @ | Wt e feafa | grie | yanfad 819 arel 3iEd e 1 9 g

D —
L

+ >
100V yaN §10 Q

(a) 1.6A (b) 6.4 A ) 80A (d) 10.0 A
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